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 �����1 


	��� ����ز �72,5 Wh ة
��2ل ا�	���� ا�� 30minh.   


ر��أ -1� ���	
� �����	

ة Pآ	) �'�"% ا�&��! ا���%$�#"! ا�	  ��  .∆��tل 

رة ه*ا ا�	���زأ -2� (
,. 

�"4أ,
). W �1,3	���ز 3  و01 ا/.	'
اد ه �
رة ه*ا ا -3,5��$ ،J 78Wh ، �����	
ا�&��! ا���%$�#"! ا�	  �

21ه*ا ا�	���ز إذا �%ك 3  و01 ا/.	'
اد ا��
ة 30minh .�<�	=	.أ?< ا.  
  

 �����2 


�! ا�&��"! ا�	��"! $�.	'��ل ا���A�&Bت ا�	��"!أ -1�
�� 78 أ��7 ا�C : 
  ��F! آ"�"�#"!/ ��F! آ�%$�#"!/ ��F! ,%ار�!/ �A&! ,%ار�!

  

  
2- !��
  .أآ	) ا�'��! ا�	  �%$< آ� أ���ل ا�&��! ا��	
 

 �����3 

�5ط. 4? !H��=ا� !"�"C��""! ا�&��! ا���رو�"
�") ا���ء . إ���F K! آ�%$�#"! m 80 ا���ء �4 ار���ع�5Aل �A&! ه"L
�4 ا�&��! ا��"��"C�P�5A� !" إ���F K! آ�%$�#"! %70��	%ض أن . 3  ا�m !"C�M 3130ه5.  

�'&"�ت●         :110 .g N kg −=    /  3 31,0.10 .eau kg mµ −=   

1- !&Aا�� Q*ه ��A=��  	%$�#"! ا���رة ا�
� .أ,
) ا�

ة -2,5��$ ،(
  .، ا�&��! ا���%$�#"! ا�	  �=	��H ه*Q ا��A&! 3  �5م وا,
kWhأ,
  

 �����4 

!"�.Sا�� اT"����ح B� ��	V�(12 ;20 )V W ة
��12h Sوط ا%V3  ا�!"�..  

��ح -1Bف ا��%F 4� !�

د أ���ل ا�&��! ا�=��5A� 4? !Hل ا�&��! ا���%$�#"! ا���	,. 
��ح؟ -2B��� !,5=%$�#"! ا�����رة ا�
��� ا� 
��ح؟ -3Bا�� �����	
�� ا�&��! ا���%$�#"! ا�	  �  
  

 �����5 

�Y ا�	�5% ا���%$�# &�24 U V= �	���و�  ���L5 أو  &$%� 4"$9,6 R = Ω ة
��8min.  

 .?%ف ��'5ل >5ل -1
 .أآ	) 5C�� ZCن >5ل -2
3-  �
د ا�&��! ا���%$�#"! $��'5ل >5ل 3  ه*ا ا���L5 ا]و�� 4? !H��=! ا��ار%Aا�&��! ا� (
  .أ,
  

 �����6 

��A%ك آ�%$�#  ?�K $�%ة �\ ,���5 �"< ?� %35	�P��	�	�3 ,��5! آ%F  3 100 m g= . K�5! إ��Aك ا�%A03 ا��%�
h 1,32ا/ر���ع m= ة
t ��3,55ل ا�� s∆ U ��4,5ل ه*Q ا��
ة ا�	�5% ا��&�K�? Y ا��A%ك ه5. = V= ة
 و �

I 150ا�	"�ر ا���ر 3"� ه  mA=.  
●K&'�  :       19,8 .g N kg −=     
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  ا�	��ل ا��A%ك، إ�K أي � !'3�C !��F	5Aل ا�&��! ا���%$�#"!؟��ل -1
�� ا�&��! ا���%$�#"! ا�	  ��=��A ا���5
 ���A%ك؟ -2 
�� ا�&��! ا�	  �
	'���� ا��A%ك �%03 ا��5�A!؟ -3 
 .?�� ا��%ق $"4 ه��"4 ا�&��	"4 -4
�%دود ا��A%ك -5 (
 .أ,
 

 �����7 

��
I 1��% �"�ر آ�%$�#  � A=آ! ا��_�دة%A����A آ�%$�# ، ���5 ا���%  3 ' 3 E V=  !"ا��
��و�	� ا��و 
' 8 r = Ωة
  :أ,
). ، ��ل .�?! وا,

���، ا���%$�#"!ا�&��! -1
  ا�	  ��	
2- ،��H	=�  	"�"�#"! ا��ا�&��! ا� 

دةا�&�� -3�  . $��'5ل >5ل 3"�! ا��
  

 �����8 

��"Tة ���A آ�%$�#  ��C�< ن�"� .���M ا��
1- !C�"�� �M���'	
�  ا���%H	%آ") ا�	ا� . 

ار�4 ا���"T���A��� 4 ا���%$�#  -2��"�C"� ا���
د ,. 
6 ABU���V ه*ا ا��PA� ��A ا�	%�5 -3 V= ة  ��ل
ا��

30mint∆ =.  
1.3-�����	
  . أ,
) ا�&��! ا���%$�#"! ا�	  �
2.3- !��F K5ل إ�A	�  	%$�#"! ا���4 ا�&��! ا�� أ,
) آ� 


د $��'5ل >5ل�  .آ"�"�#"! و ا�	  �	
  . ا.	=	` ا��%دود ا�&��  �����A ا���%$�# -3.3
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�  ?�5د ���5 ا���%�A%آ! &� $4,55"4 E V= �	���و�، �%آ) �A%ك آ�%$�#  ���5 ا���%�A%آ! rا�
ا��"! و 
��و�	� ا�
ا��"! E'ا��_�دة�' و  2,25 r = Ω.  

1-  %����?��� أن ا��5ة ا���%�A%آ! ا��_�دة ��A%ك �	=�.) �&"� �0 .%?! دورا�C، آ"\ ���4 إ�HCز �"�س 
 �	� ا�
ا��"! ؟����و


 ا�	��ل ا��A%ك 3  ا�=�bم ا�
ا#7 �'&  �"�س ا�	%�5 $"4 �%$&"� و �
ة ا�	"�ر ا���ر 3"� ا�=	�#` ا�	��"! -2=? : 
3,28 U V=   /  313 I mA=  

�  �HCSز ه*Q ا��"�.�ت   -1.2�%H	%آ") ا�	ا� !C�"�� �M� .  
2.2-   4�  .r وE'أ,
) �"�! آ� 


دة 3"� -3�
رة ا���
رة ا��"��C"�"! ا�	  ��=��A ا��A%ك و ا�� .أ,
) ا�
 .أ,
) ا��%دود ا���  ��
ارة -4
  

 �����10 

��C�< ��V3  ا� �M%آ") ا���	ا� THCأ !�، ,"d ا���L5ت ا]و�"! ��� c�C ا����و
6,0 R = Ω  .ه�� 

اران ا���"Tان ����5�E 12ا�� V=  1,0و r = Ω.  


ة ا�	"�ر  -1� (
 .Iأ,
2- 

رة ا���%$�#"! ا�	  ��=��A ا���5� .أ,
) ا�
3- !"�
دة 3  ا���L5ت ا]و�
رات ا���%$�#"! ا��� .أ,
) ا�
�4 ا��ACظ ا�&� -4 Y�A�("%آ	3  ه*ا ا� !�.  
  
  

    




